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Angle | Type Angle Type Angle | Type

3 3 3
A acute | . oA— Z A acute tan A = Z A acute | A= Z
B acute L5 B acute L5 B acute -
smB—%% smB—%:; smB—%:;
C acute | (.= § C acute secC = § C acute | .. c= §
D acute | . .p= 7 D acute cotD = 7 D acute | _ip= :

E |obtuse| . c.cp=> E obtuse EOSGC E= E obtuse EOSGC E=
3 3 3 3
F obtuse | . p— - F obtuse | . ip_ - F obtuse | . ip= -

G |obtuse| .. ;= —13 G obtuse |secG= G obtuse |secG=
=5 -13 —13

7 : 7 > 7
H reflex _ H reflex _ H reflex _
tanH—254 tan H 254 tan H 254
I reflex _ 2 I reflex _ 2 I reflex _ 2
tanl—%% tanl—%% tanl—%%
J reflex cot ] = gos J reflex cot ] = g()S J reflex cot] = goS
K reflex _ 42 K reflex _ 42 K reflex _
secK—24 secK—24 secK—24
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